&« SUBARU




SPECIFICATIONS

Model EX13 | EX16 | EX17 EX21

Type Air-cooled, 4-cycle, slant single cylinder, OHC, horizontal PTO shaft

Bore x Stroke mm (in.) 58 x48 (2.28x1.89) 67x48 (2.64x1.89) 67x60 (2.64x2.36)

Piston displacement ml (cu.in.) 126 (7.69) 169 (10.31) 211 (12.87)

Continuous output KW[PS](HP)/rpm 1.9[2.61(2.6)/3000 1.9[2.6](2.6)/3000 2.6[3.5](3.5)/3000 3.2[4.4](4.4)/3000
2.2[3.0](3.0)/3600 2.2[3.0](3.0)/3600 2.9[4.0](4.0)/3600 3.7[5.0](5.0)/3600

Maximum output KWI[PS](HP)/rpm 3.2[4.3](4.3)/4000 3.2[4.3](4.3)/4000 4.2[5.7](5.7)/4000 5.1[7.0](7.0)/4000

Maximum torque

N-m[kgf-m](Ibf-ft)/rpm

8 1[0 83](6 01)/2500

8.1[0.83](6.01)/2500 11.3[1.15](8.34)/2500

13.9[1.41](10.26)/2500

Direction of rotation

Counter clockwise as viewed from PTO shaft side

Fuel Automobile (unleaded) gasoline

Fuel Tank capacity liter(US gal.) 2.3 (0.61) | 3.2 (0.85)

Lubricant Engine oil SAE 10W-30, 20W, 30W

Lubrication Mechanical splashing type

Lubricating oil capacity liter (US gal.) 0.6 (0.156)

Carburetor Float type

Ignition system Transistorised

Spark plug TORCH E6RC (NGK BREHS)

Starter Recoil starter

Governor Centrifugal flyweight type

Dry weight kg (Ib) 14 (30.9) 15 (33.08) 16 (35.28)
Dimension length x width x height 297x341x318 303.5%359x335 311.5x370%335

mm (in.)

(11.69x13.43x12.52)

(11.95x14.13%x13.19)

(12.26%x14.57x13.19)

» Specifications are subject to change without notice

SPECIFICATIONS
Model EX27 EX35 | EX40
Type Air-cooled, 4-cycle, slant single cylinder, OHC, horizontal PTO shaft
Bore x Stroke mm (in.) 75x60 (2.95%2.36) 89x65 (3.50x2.56)
Piston displacement ml (cu.in.) 265 (16.17) 404 (24.65)
Continuous output kW[PS](HP)/rpm 4.4[6.0](6.0)/3000 5.5[7.5](7.5)/3000 6.3[8.5](8.5)/3000
5.1[7.0](7.0)/3600 6.3[8.5](8.5)/3600 7.0[9.5](9.5)/3600
Maximum output kWI[PS](HP)/rpm 6.6[9.0](9.0)/4000 Net 7.4[10.0](10.0)/3600 Net 8.8[12.0](12.0)/3600
Gross 8.8[12.0](12.0)/3600 Gross 10.3[14.0](14.0)/3600
5 oot a1a 71250 N el | N ZReen
Direction of rotation Counter clockwise as viewed from PTO shaft side
Fuel Automobile (unleaded) gasoline
Fuel Tank capacity liter(US gal.) 5.6 (1.48) | 6.8 (1.80)
Lubricant Engine oil SAE 10W-30, 20W, 30W
Lubrication Mechanical splashing type
Lubricating oil capacity liter (US gal.) 1.0 (0.260) | 1.2 (0.32)
Carburetor Float type
Ignition system Transistorized
Spark plug TORCH E6RC (NGK BREHS)
Starter Recoil starter
Governor Centrifugal flyweight type
Dry weight kg (Ib) 21 (46.31) 33 (72.75)
Dimension length x width x height 351x420x410 389x446x447
mm (in.) (13.82x16.54x16.14) (15.31x17.56x17.60)

» Specifications are subject to change without notice

I SUBARU

FUJI HEAVY

INDUSTRIES LTD.

INDUSTRIAL PRODUCTS COMPANY

1-1-21, Irifune, Chuo-ku, Tokyo 104-0042, Japan
TEL:+81-3-6228-3657 FAX:+81-3-3553-7114

http://www

.subaru-robin.jp

ISSUE EMD-EL0239
Printed in Japan 2016.040



EXIZ

SUBARU

o]
5-0.025

Slio

341(13.43" 297(11.69") (METRIC KEYWAY SHAFT)
225(8.86") MUFFLER 145.3(5.72")
MUFFLER COVER EXHAUST OUTLET
SPARK PLUG
o oo G
[ N
lo o CPi
T = -
Nlio °
0~
Jd @ Releff
o I
o Z =
2 B
6l o o
© (o] @ @
o Q ™
[«3 @ O 5
= — ) il 0
24 " :
¢ N ?%
=] METRIC FLANGE g S e CARBURETOR
4-MBx1.25-6H, 16 DEEP g 3 ——=
D SAE A FLANGE o & J
(4-5/16-24 UNF 2B, TAP 0.63") O
32 55(1_2'73") MOUNTING FAGE
65.1:0.25 (2.57") 92.3(3.63")
€559 g2 35.7,80(3.15)
:m' (1.41") 56.6 (2.23")
EX13D PERFORMANCE CURVES N-mikgf-m] %G 5 39.6(1.56")
90 e é 0209
— 80 ;|oa f B 22 s00.97) pfa 5
= 70 do7 5§ = |y | )
[PS] kW = MAXIMUM TORQUE / ~  TORQUE SO. g gg @ 72_ % 0’0‘
50 L ” - ] o @
35 P—/r“’ ) \ %
MAXIMUM OUTPUT | A=A Mex1.256H 2aDEER B |5 3 ©
40 | 30 ; 0
>,/4 ',‘Z'g;&',%g? 18?{;}2” I % CYLINDER CENTER
25 by
? 30 | L1 ///\ S
5 20 | / :’c'; o |
= ] \ e 2HOLES-¢8.5
Bao | s Vmwuousouwm b5 5(0.20") (0.33")
L !
RECOIMMENIDED POWER OUTPUT RANﬂ a VI EW Z
1.0 — ]
o 195 |7.6(0.3"
05 Taper 1/5 (077)
Qo Metric 1/5 taper
o = Generator Shaft
L o M8x1.25-6H 18DEEP;
2000 2400 2800 3200 3600 400(
—— 15(0.59"),55.3(2.18" |3(0.12")
REVOLUTION SPEED rpm 20479
Powelr C'I'W?S arehcqrrecteg_t_to stagdard =5 T<
sea level atmospneric condition and are — Me‘trlCdﬂBmm
developed from test engines equipped
with standard air cleaner and muffler. M14x1.5-6H J7) Pump Shaft
o~ OE 58.5(2.3")[3(0.12")
S~ 2| [435
"o +0.025 g [1.71)
(dg ‘zg?g?.OOS > Al =
5 i SI ‘I—< SAE®3/4 inch
(6/16:24UNFEBTAPOSTT A ] J7} Keyway Shaft
- 2|
2| Taper2-1/4
S PER FOOT
g 72(2.83")
~| []60.6(2.39",
----- L SAE 2-1/4 taper
Generator Shaft
(5/16-24UNFEBTAP-0.71")/ 3R]
&~ 585@3",|350.14)
o &
o+ - SAE®5/8 inch
J7} Pump Shaft
(5/8-18UNF-2A)

2.5(0.1)

Se [0

SAE® 3/4 inch

(3/4-16UNF-2A)

NS=N

Pump Shaft




EXI6 17

303.5(11.95") (METRIC KEYWAY SHAFT)

359(14.13")
236(9.29") 145.3(5.72")
e G %
MUFFLER
MUFFLER COVER ° O\
® o —P
/T }:
SPARK PLUG
g EXHAUST OUTLET /j'
N
2 OHGCG
ol ) 3\ o
2|8 o > 38
ol I -
Hl o ) \' ]
|0 o = N —]
Yol O
s ke N @
/ el , .
, SO d— N
//"' z B { !
] ]U%
= =H 0
OIL GAUGE METRIC FLANGE IS %
(ON'BOTH SIDES) D 4-8Mx1.25-6H, 16DEEP o|x N
O SAE A FLANGE - ‘
(4-5/16-24UNF-2B, TAP 0.63")
32.55(1.28") CYLINDER CENTER ! FUEL DRAIN \CARBURETOR
65.1+0.25 (2.55"~2.57") .
MOUNTING FACE |- 92:3(3.63") _
. 35.7 ,_ 80(3.15")
o 1.41 56.6(2.23")
EX16D PERFORMANCE CURVES  N-mlkgfm] EX17D PERFORMANCE CURVES  N-mikgtm] g - 396(1 567
90 _09 T T 120 15 g (3; )
—1—180 Jog 1 1 ] 1.0 444 E’: 0.12') ab N
/ T T MAXNUN TOROUE 100 J10 z P ~
[PS] kW A= 'MAXIMUM TORQUE / A70 o7 [PS] kW iw | | .90 Jos " 8 L :;) 2
TORQUE g _ 48 F——1 i I~ ©_| ., 5H9'S 3 I o
sol MAXIMUM OUTPUT || ToRQuE o 1 : 8| o
35 40 i ) P
| ©
50 |- )X — N
MAXIMUM OUTPUT | 35 A-A A ;*o ©
40 |30 = P M8x1.25-6H 23DEEP/™ _ ) 8
L 2 <)
N | N 40|30 > Metric ®20mm g M S| | [CYLINDER CENTER
T . = /] L1 Keyway Shaft s Q !
LT DA IH e x 1 e
5 [ f sof U] [ | :
S % \(/ / 2 |2 \— (oo 2t  /[2HOLES-@85
S,ok1s 3 ngggygvsggsn \ 5(0.20") (0.33")
RECOMMENDEDN, /| SORAO OV 20|15 RANGE —1—] VIEW Z
HOSEPOWER ’,-" L+
1.0 RANGE o 10 Taper 1/5 2)&375) 10.6(0.42")
10 — - -
05 wor b Metric 1/5 taper
05 S Generator Shaft
M8x1.25-6H 18DEEP
ok o o0
2000 2400 2800 3200 3600 4000 2000 2400 2800 3200 3600 4000 15(0_59") 55_3(2_1 g") 3(0_ 1 2")
N - || _H2(0.47" For EX16
REVOLUTION SPEED  rpm REVOLUTION SPEED rpm NS ‘r< Metric 18mm
NOTE) 1.ABOVE PERFORMANCE DATA ARE CONVERTED INTO STANDARD ATMOSPHERIC CONDITION'S DATA Midx1 5-6H Pump Shaft
2.ABOVE PERFORMANCE CURVES ARE ESTABLISHED IN ACCORDANCE WITH JIS B-8017. - 7
20(079"), 55.4(2.18") | 3(0.12")
g?e_ 16(0.63") For EX17
= ( Metric ¢ 20mm
Pump Shaft
M18x1.5-6H “|7
8| 58.5(2.3") |[3(0.12")
A G| ~[435 -
?.75f3:8%§ Sle (1.71")< -1\
0.19") sls ‘r( -
) SAE ¢3/4 inch
L —_ ) Keyway Shaft
A-A (6/16-24UNF2B-TAP-0.9T] A
Taper2-1/4
) PERFOOT
L~ [72(2.83")
';§ / 60.6(2.39")
Q2
) | SAE 2-1/4 taper
I Generator Shaft
(5/16-24UNF2B-TAP-0.71") R
ER
o~ 2~
=5 Qe
S 58.5(2.3") | 3.5(0.14")
glarToom ‘F<
S5 SAE ¢5/8 inch
(5/8-18UNF-2A) IR [T i
2| 5850237 [2.50.1)
22—
QS - A
< SAE ¢ 3/4 inch
(3/4-16UNF-2A) J7/ L S




EX2)

\CARBURETOR

370(14.57") 311.5(12.26") (METRIC KEYWAY SHAFT)
247 (9.72") 145.3 (5.72")
MUFLLER cooo @ —ci‘:v—
— = MUFFLER COVER Y °©S§
D
6 © = o, o
= T EXHAUST OUTLET
o
2
2 OHG
il © [
9|8 2
=ip= >
o | i O o |
©|m™ o
© Q (@)
©) q
y e o ——— )
til g —+—
OIL GAUGE S o] [
(ON'BOTH SIDES) b METRIC FLANGE gl ﬁ
O 4-8Mx1.25-6H,16DEEP 2
0 SAE AFLANGE \ @ :
32.55(128") (4-5/16-24UNF-2B, TAP 0.63") ovUNDER cENTER = FUEL DRAIN
65.1+0.25(2.55"~2.57")
MOUNTING FACE 92.3(3.63")
35.7_,_ 80(3.15") "
4T (56.6)(2.23")
5 39.6(1.56")
EX21D PERFORMANCE CURVES  Numlkgtm] g szo [
150 | =8 5001.97") | |02
| 140 15 T|—~3S5 ]
o414 Slio ool 35 - | s <
13.0 NN S [(1.38") i O
kw || MAXIMUMTORQUE ~120 13 o9 T SR [(1381 p 8
Ao 2 ) - QS =
[PS] 55 |- Foe T % LR g SYSE s g
70 TORQUE = 0 2
5.0 P ) P
AXIMUM OUTPUT L1 ] N §
60 45 A-A  M8x1.25-6H 23DEEP/ A b 3 -
0 ) = CYLINDER CENTER
’ L Metric 20mm 8
SO | P Keyway Shaft
iKY \ 19
3.0 I
1 40 \‘58#‘;'“}’%3 \ ~ T 2HOLES-@8.5
= 25 3 5(0.20") (0.33")
o} RECOMMENDED o
a0 HOSEPOWER \ 5| VIEW Z
3 20 RANGE T— o —_—
R sui ~
20 15 19.5 [10.6(0.42")
Y Taper 1/5 077
10 10 \ 2?5 Metric 1/5 taper
' 05 Qs Generator Shaft
\ M8x1.25-6H18DEEP
0
2000 2400 2800 3200 3600 4000 20(079“) 55.4(2.18") 3(0'12..)
REVOLUTION SPEED rpm _ 4 16(0.63") < .
NOTE) 1.ABOVE PERFORMANCE DATA ARE CONVERTED INTO STANDARD ATMOSPHERIC CONDITION'S DATA §§ “Pnfrgécghea?tmm
2. ABOVE PERFORMANCE CURVES ARE ESTABLISHED IN ACCORDANCE WITH JIS B-8017. = J7/
M18x1.5-6H
8 58.5(2.3") [3(0.12")
& [ 435
g?\v_ (1.7/1(1 ™
SIS (
() SAE ¢3/4 inch
] Keyway Shaft
A
(5/16-24UNF2B-TAP-0.91")
Taper2-1/4
- PER FOOT
S~ [72(2.83")
:§ / 60.6(2.39")
Qe
==l SAE 2-1/4 taper
1 Generator Shaft
(5/16-24UNF2B-TAP-0.71") 88
"ol 0
s o~
S3 s
& 58.5(2.3",/3.5(0.14")
= 23
sl (0.917)
S < SAE ¢5/8 inch
(5/8-18UNF-2A) —u U
5| 58.52.3" |2.5(0.1")
2l (02931 ") <
SIS -
SAE ¢ 3/4 inch
) Pump Shaft
(3/4-16UNF-2A) /

}D SPARK PLUG



EX27

420(16.54") MUFFLER 351(13.82") (METRIC KEYWAY SHAFT)

270(10.63" MUFFLER COVER 170.8(8.72"
SPARK PLUG
EXHAUST OUTLET -/

/\ _coo
o $ )

[

30 30 | ‘
// N
S (O
PN & )
e 3 o o

f
0 U0 U_Ab

100

&) JIRob 1
©
o
<
SAEBSIET : , g
$146.0 R S = ~ p——
7510 \ g PD £
IR : LD AN Rp £2:015 09, QI
s —— > ISS*O (4995) 0|m
i ® 4500 ) 10|S =
2" oy —
OIL GAUGE SAE B FLANGE =
O (4-3/8-16 UNC 2B, TAP 0.71" DEEP) | ©
METRIC FLANGE 4-M8x1.25-6H 18 DEEP 0 HELDRAN CARBURETOR
SAE B FLANGE (4-5/16-24 UNF 2B TAP 0.7 1'DEEP) Metric STD 45 6348 107.84.24"
FLANGE 0.18" || B0(2.36")| 57.5(26)  96|(3.78")
EX27D PERFORMANGE CURVES Nemikgtm] 42085011 4.5 | 50.3
¢ M8x1.25-6H || 35 ©18) 1%117l067)
=1 180712 (1.38)
T T T wol® ™
|—— MAXIMUM TORQUE =160 ;¢ f 0,020 A r
150 250 _
[PS] kW == == TO1R<§UE ((110.98")(1)‘8053 9 i [l
9.0 —~ < |~ L o
r 65 o [4l7Hei68%8 ¥ |y / 0|2
IAXIMUM OUTPUT // — (0.28) S P / 10|~
80 [ 60 —— ANz ©lnld e -rj:Q
55 ] /\ @ 2 (g 4 = 0 QI
70 | L Q o 1 28 -~
5.0 —_— ¢
; 1.10
60 | 45 / \ Metric p25mm e (.10
i N \ Keyway Shaft CYLINDER CENTER
50 4.0 ONTINUOUS QUTPUT
R \ RECOMMENDED POWER OUTPUT RANGE
ol 2-910.5
40 | a0 __\ METRIC STD MOUNTING FACE | O|= 1300519 041
|| i
? 30 | 25 \/// \ ale VIEW Z
2.0 \ 777777777777777777777777777777777777777777777777777777777
5 Metric FLANGE METRIC MOUNTING FACE
% 201 s \ for Generator and pump forGenera:Srand Pum 102.8(4.05") CYLINDER CENTER
o 10 \ IR 134(1%)| 52.5(2.07"
0s Yo, 4MBx1256H18DEEP g A [ =X MOUNTING HOLE
o | l ¢qstD/e,n S om “l LI3(012)
2000 2400 2800 3200 3600 4000 Hg 3 8ts, =1 e 4(0.16'YDEPTH OF SOCKET JOINT
5033 o] ®— B ,?
—— I
REVOLUTION SPEED rpm Q
3 © J7L i /10t
Pogv g Vce r\éergn c)asreh gﬁéreggﬁglttgn sta dgrd a5 00 S5 Paﬂetrlc 1 Sharf)‘(tar
eveloped Fmose eng ey m 28(1.1'{DEEP //Tever1 /10 enerator Sha
with standard a|r (¢} eaner an er.
79.5(13)
Eq 55.5 4016
15.5081) "%} (2.19") ||| 4(0.16'DEPTH OF SOCKET JONT
SiE Metric @ 25mm
M20X1 5-6H Pump Shaft
SAEBFLANGE SAEMOUNTING FAGE | 103.34.07") - CTHNOERCENTER
93(3.66" 53(2.09")
_ 722(284) 6= MOUNTING HOLE.
#25.4-0026 (100) o5 _ 605 4.5 MOUNTING 501 £
6.30°8°%7 o/ (g_agn)r\ 0.18")
(0.25" NS r :
Jany SAE® linch
: % Keyway Shaft
7/16-20UNF
2B-TAP 28(1.10")DEEP, INSIDE HOLES
(Taper Center) 11050 35)
5 !
(Ol ol 4
|~ Q
oS o 3 /
— \ SAE 2-1/4 taper
= ] Generator Shaft
i 5/16-24UNF 2B-TAP
18(0.708")DEEP
ya a;ere-lm
93.5(
[ 28y
102 018)
( SAE® linch
\ Pump Shaft




EXI5 /4O

446(17.56") 389(15.31")
25(0.98"), 293(11.54") 180.3(7.10") _A1(16T)
.
- _ = — o SPARK PLUG
- —
MUFFLER
T— L - | c—— —T—
. > I D | =) = T
T 7 o — N e— ) | —— —/—o
I — <=0 — AR CLEANER
EXHAUST QUTLET
~ ©
0 / -
3
N =
©® ® 3 N
= 3
or & (o) 3
: @ —
A G -
R 25|e8| ||
Nio S=q] @ = b
= - =5 - S= RN
ol ANy R ] o
< - ~—~
. O
O ¥ 2
OIL GAUGE N
(ON BOTH SIDE) 1 METRIC FLANGE 8-M8x1.25-6H T
Y O TAPO.71 DEEP (3, OMARK) il - CARBURETOR
- A )
225 | 419 010" FUEL DRAIN
(167 (1.65" ) . :
509
(2.007) MOUNTING FACE(3%MARK) 117.3(4.62")
103(4.06") 73 103(4.06")
(2.87) 83|(3.27")
60 3 443 |(1.74"
(2.36") | (0.12) “Jat.3(163")
M10%1.25-6H =
EX35D PERFORMANCE CURVES EX40D PERFORMANCE CURVES 47 AT ANA
Nem Nem FLANGE BOLTKEY (185" —J NI A
- T 1 WASHER ARE LOOSE PARTS : = 2
w 26 w = LI @30g7 305 (11 . i =|| 3 8
iG] 2 <] 26 7 7»0034(027 BRI 50207 N bt |
© N 4 AT7+0.019\0.2763' )| a2a (PILOTDERP 3 i
sl 5 ~ ol aa— \waamirorauenen — EE 8 S S
LAXIMUM TORQUENET) - i g e 1 N
20 22— B So|= 36 = I A N
A | A A A = |28« - ] J e
KW o 25 ol CENTER OF CYLINDER
10.0 —— 100 ———— o, S| 28107 ﬁ; i‘ ‘ ®
— [ MU OUTPUTIET) &) 380.50) .
2.0 — 9.0 - o = i
| MAXIMUN OUT PUTINET) \ [ ] Metric ¢ 30mm AT
DZN
8.0 8.0 Keyway Shaft A <&
N _ yway S e 2 I
= T = 4.5(0.18") T %,
zn 70 — 24 70 \ (OMARK-2PLACES) g l_17oel;f % »
=L I =L - N /1 S| 35(1.38") 3012) S Aneen g
o | o [11 = z = Z (PERSPECTIVE)
Z| 3o(1.18" &l _£(PERSPECTIVE)
0 T Il 50 contivwous N/ 1 S| Taper 1/10
| conmmuous™J1 | 1 RATED OUT PUT 8 .
| RATED OUT PUT] | | RECOMMENDED | 1= Metric 1/10 taper
0 l 0 [ QUIEUT Generator Shaft
RECOMMENDED TRANGE | oxTEen T enerator Sha
30 R a0 20(0.79")DEEP
20 41 20 I I I 1
. : I z . 20 24 l28 32 36 X10° w
20 24 28 32 36 X10
L o 2 (oo | e OMaRKy 3l a5
REVOLUTION REVOLUTION 3 72.2(2.84") 20.8
NOTE) 1.ABOVE PERFORMANCE DATA ARE CONVERTED INTO STANDARD ATMOSPHERIC CONDITION'S DATA 6.32(0.25")4 045 Y5y |L05@38) (0.827)
2. ABOVE_PERFORMANCE CURVES ARE ESTABLISHED IN ACCORDANCE WITH JIS B-8017. g A~ }
——LA ) SAE¢inch
=~ )"  Keyway Shaft
©o| A-A 3824UNF2B-TAP/ A

110.5(4.35") (6‘_-1 )
97.2(3.83")

Taper 1/5.33
(2-1/4PER FOOT)

$19.05(0.75")

= SAE 2-1/4 taper

N (
47:‘/A [I[')  Generator Shaft
5/16-24UNF2B-TAP,

0.87"

0224
S
o

NN
N

(0.83")
i }BL SAE ¢ 1inch
Pump Shaft

63(2.48") 18(0.71") DEEP
103(4.06") (%, OMARK)  1".14Ns2
4-3/8-16UNC-28
18 (0.71") DEEP
SAE-B FLANGE (¥-MARK)




That's Extreme!

EX engines are superior to
engines in the same class.

lEXtr‘emer Advanced Technology

Extreme reliability and durability are achieved by:

- Heavy Duty Chain Driven OHC System
Oval type case-hardened steel links enhance
performance andresist stretching, which result
in extended maintenance free operation.
Completely New Main Bearing Cover Design
Flush-mounted main bearing cover with lower
moment of deformation significantly increases
reliability and engine life.
Superior Cooling and Lubrication System

Engine life is extended through the high efficient
cooling and precision lubrication systems.

Large cooling fins are engineered into the crankcase,
cylinder and mounting base.

Large Ball Bearings on both ends of crankshaft

for maximum stability under demanding loads.

- Cast Iron Cylinder Liner resists wear.

lEXtr'eme Power and Performance

Extremely Higher Power and

Lower Fuel Consumption are realized by:

- High speed and homogeneous combustion achieved by
sophisticated Pentroof Combustion Chamber which
includes Intake and Exhaust Valves located at
optimum angle.

- Straight Intake Port with minimal air flow resistance.

Environmentally friendly.
EX-Premium engines comply with EPA and CARB
Emission Regulations in the USA.

Extreme application compatibility

With four versatile models, existing competitive
slant-cylinder engines can easily be replaced.

Combustion Chamber






